Solving “simple” trigonometric equations: Practice Name KE\!

Solve the following equations for x over the interval [0, 2nr).

1. 2cosx+4=5 2. 2sinx—-1=0
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3. tan’x—-3=0 4. Scosx—+3=3cosx
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5. dcse’x—2=0 6. 4sinx-2=0
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Solve the following equations for all angle values of x.

7. 3tanx—-3=0 2. se
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9. sin" x—4sinx-5=0 10. 5cos2x+1=3cos2x 3 ¥
= 21 ¢ Ix 4
(5"'1"! = | )(Stn‘f- - 5‘)2 o] e dx 4 (=0 p‘::#f‘ﬂ.ﬂ{ é%r)
== i n ™
Sine+ (=0 Sx-3=0 Ho 3 ¥ = . o %__rr
Cos drz }‘é 2
5"““’" { bl 3 \___,-—J-'_u
1 - gﬂr#'ﬂ.nr ql i +IniT
;-l-—_-_--’___-’-___'
11 1Ecns x—8=0 12. 2cos’ x—3cosx+1=0
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